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PART-B

1. Signature of invigilator on answer booklet is compulsory.

2.All

answers to the questions 1V, V and VI should be written

onappropriate pages only.
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Answer any five (5) of the following questions 5 x 1 mark =5

. What is Scarification.

. What do understand by day neutral plants.

. What is the significance of vernalization.

. What do you understand by pinhead drops or post fruit setting

drop.

. What do you understand by apical dominance.
. What is respiratory climate.
. What do you understand by growth.

Answer any five (5) of the following questions 5x 2 mark =10

. Write down the role of auxin asa weedicide.

. What is de novo synthesis of enzyme o amylase.

. What do you understand by fruit thining.

. Describe about stress hormone.

. Differentiate between climacteric and non climacteric fruits.
. Describe about source and sink relationship.

. What do you understand by vernalization.
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Answer any five (5) of the following questions 5 x 3 mark = 15
Explain about growth and growth curve with all phases.
Explain in brief about physiological roles of auxin and
cytokinin.

Define photoperiodism. Also classify plants according to
photoperiodism with suitable examples.
Discuss in detail about changes occurs during fruit ripening.
Define plant growth regulators and its type. Also define
biosynthesis of abscisic acid.
What do you understand by seed dormancy. Describe the
methods to break seed dormancy.
Define plant growth hormones and also define physiological
roles of gibberellic acid for horticultural crops.
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Instructions to the Students:

Total marks: 50 (Part- A: 20 marks and Part- B : 30 marks)
Part - A Question paper:Answer within 30 min.

All answers should be written only in OMR Sheet.

Write the Correct Part-A Question paper Set Code in OMR sheet.
Get the signature of the invigilator on your Part- A QP.

Part- A

Q.L. Select the most correct answer A/B/C/D for the following
questions. 20 x 0.5 mark = 10 Marks

1. Growth is maximum\/ibn/ﬁ{e zone of-
a) Cell division ) Cell elongation
c) Cell maturation  d) All of these
2. Flowering in\l}réoday plants is favoured by-
a) Ethylene “b) Gibberellins  ¢) Cytokinin
3. The ripening of fruits can be hastened by treatment of-

a) Gibberellicacid b)1Indole acetic acid
c) Florigen d) Ethylene gas

d) Auxins

a) Temperature b) Water Light d) Oxygen

5. The pigment which a\t?ys red and far red light in plants is-
d) Ph

a) Xanthophyll b)Carotene

¢) Cytochrome ytochrome

6. Seeds of tomato do not germi‘?/e‘in its pulp due to-
a) Presence of excess salts vb) Presence of ferulic acid
c) Absence of oxygen d) Presence of ABA

7. Dormancy due to hard seed Co% be overcome by -
a) Chilling treatment b) Scarification
c)Light treatment d) None of these
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